ARG (At BERYH—the
— [ RUTFATARD5— Iz 2EaRE |
%*ﬂsiﬁﬁ Eﬁ%ﬁ%?&ﬁ‘yﬁ—%ﬁki% g: mig = )l mig =
BifE B ES | 2024/1/20 1300 | #&HR | 7109 ER205 PKE | 54 EERASRAIZI SR BRY
X 1% \ M SB[ oc |[®E| 9% | AR | B EvFiREE
TYFA VARG B— A = BT |hE R ELOESNI R N2 2| 2EBRZ(AIZ) 200
F E )l fE{Z T2 |1EH #fE ey | HRE DB A KEH A
0 CUE S 0
EHEEPR 0 Er 01 0 EAESER
AL F| 0
0 = F 0
KICK OFF 5 P K 3 JEEKICK OFF
e a—bk . .. . a—hk o
OEECEE | wE % mse  (E\B|RE) mse (BT [ ww qEr| 2T
No.|ouTes| % | 4 | 35] 241 12|35 24| 12| ° | ™ o ¥ 1224 35| 12] 24| 35| & | % |[ouTesm] No.
0 FHE EZE 1|GKJGK| 1|RR Z=F 0
0 nmae #s 2|DF|DF| 2|/M% BHER 0
1 1 55 23 3|DF|DF| 3|9 %R A 0
0 LN T 4|DF|DF| 4|F%T # (Cap) 0
0 & ¥ (Cap) | 5|DF|MF| 6|l & 0
894 1 1 AR it 6[MFIMF| 7| RS 0
1 1 INE R 7|MFIMF| 8|fEIE FRE&E 0 80%
1 R AR 8[MFIMF| 10| LB BifE 1 1
1 1 BEH EA 10|MFIMF| 11|FAR FE 0 514
HT 0 o ORES 11|MFIFW| o|#aA F 1 1 504
58% 1 1 ER & 9[FwlFw| 13|17TE X 2 1 1 80%
0 mE EX 12|pFlek| 12|BAx H=E 0
0 TE =R 13|DF|DF| 5|FE& BF 0
0 A EiE 16| DF|DF| 15|%Ei#% B& 0 8
9 0 # BE 19| DF|DF| 16[#2E X 0 13
6 0 it 2 14|MF|DF| 17|&H BEA 0
0 Wik 6§ 17|MF|DF| 19|kE EXH 0
0 B At 20| MFIMF| 14|BR EBX 0 9
0 I EX 15|FWIMF| 18|BRiZ 1K 0
11 1 1 b5 &3 18| FwIMF| 20|/NEF KFN 1 1 11
=4.R15 BEE BEE =45.R15
B | =9 No| i BFE 174 B - N#g EE BERE | %[ No @ BFE 114
2N | =+ ‘& 2 £; ik iE | .. o ar | g ik iE
895y| 2| 3|DF|EE E3 E-E % %f—ffﬁ FLBE Eﬁi% %
21 o 4| 1] 7]>a—+r s| 2| 1] 1] 1
2| 1] 6| 2/11] aK [10] 2| 6] 2| 0
1] ol 2| 3| 6 ck | 8] 4| 2| 2| o
2| 1] 3| 2| s|m#rk| 2| o] 2| o] o
2| o] 2| 1| s5|m#EFK| 5| o 3| 1] 1
21 ol 1| 1] 4|as)| 5| o 3] 1] 1
ol o] o/ o] of] PK | o o] o] 0] O
G BRF—L No.| FEE |No.| 72RAb |[No.| PR | RO7 [Bad 286 ~:FUTL —:T8R 1 BERAR < EE S:¥a—b HAT LY
PKA A Ol f; No No2 No3 No4 N05 No6 No7 No8 No9 No10 No11 No12 No13 No14 No15
ZHEEFFR L{5(/0O|3|0O|10/O|8]|0|4|0
EHEEER 7/0/3[x|2/0|10/0
(5 & B L) i 0:35:13 ( 0:00:13 ), #:* 0:38:20 ( 0:03:20 ). R 0:10:00 ( 0:00:00 ). m# 0:10:28 ( 0:00:28 ) HAASFEER 1:37:01
U] %79 OR|IZ(E. RIEFKDSSE . FEF—LOATHAIRIC LD EE, BRLTVET,



